MATH 205 SAMPLE QUESTIONS FOR QUIZ 6 Dr. Bogacki

Spring 2002 PART 2
SOLUTION KEY

Differentiate each function

6. (x) = cod5¢ + 1) %(f(x) - —sin(5:2 + 1) 10%)

7. h) = (cos()’ j—xh(x) = 3(cos(x)) “Il-sin(x))

8 g0 = secl € g = el enle)

9. f(x)= e %(f(x) = % @ac(x) Fan(x)

10 g = (&+ 4y %(g(X) = o + 4 e+ 4)

1. h(x) = 9° = MO %( he) = €"O%n(9) = 9*Tn(9)

12, §(x) = (sin(x)* = nECNR %(f(x) - é”(édx”@‘%f(x) Gos(x) X + In(sin(x))g

= (sin(X))*[xGot(x) + In(sin(x) )

13, g(x) = xS = glInGNESN) :—g(x) = e'n(x)ﬁr(x)%@n(x) + In(x) Etos(x)g
X

L ORI ENONNTNINE
X 0 + In(x) os(x)D

1

14. nh(x) = tan(\[x2 + 4x) :—h(x) = (sec(\/xz + 4x))ZB;— [ﬁx2 + 4x) ? [(2x + 4)
X

-1

15.  f(x) = \/cot(3x + csc(x)) :—f(x) = %Eﬂcot(Sx + csc(x)))TEﬁ—(csc(3x + csc(x))z)[EQS — csc(x) [dot(x))
X



